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* The measures of central tendency are mean, median and mode. The
mean defines the average value of the dataset. The median
represents the middle value of the data set.

» The median of a set of data is the middlemost number in the set.
* The median Is also the number that is halfway into the set.

* To find the median, the data should first be arranged in order from
least to greatest.

A median is a number that is separated by the higher half of a data
sample, a population or a probability distribution, from the lower half.

* For example, the median of 3, 3, 5, 9, 11 is 5. If there Is an even
number of observations, then there is no single middle value;

* the median is then usually defined to be the mean of the two middle
values: so the median of 3, 5, 7, 9 is (5+7)/2 = 6.



https://byjus.com/maths/central-tendency/
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IBSHBST_B -

el alleuTmisbendd Eenl Haded SHeNey STewis. 25. 18. 27. 10. 8. 30. 42. 20.
53

girey:

GanBadsinn’ L aleugmisensn 8, 10, 18, 20, 25, 27, 30, 42, 53 een smeuflansuisd
SIS, HBHWHAIY SoeuH © M) e SenL Hlensv 25. sunwitum’ent. LUSILHSHE

N+1

BemiL_15lemev =—2 LS © M
9+1 :

BBl = —— el 2 mIy
10

BenL_Hlenen = 7 SLoUH 2 mii

=5 seug o _miing — 25



B HEssT B

GlaTBassinn L wHisst Syl ane saeslselisn 2 &lenadl. UlailauwhD el eumssnhbd
5, B, 12, 30. 18, 10, 2, 22 Sen [Henew SR,

ey

GlETBasinn’ L alleu)rfissresn s eufleansuilst sipshs.
2. 5, B, 10, 12, 18, 22 30D

Eruew Sen BB 2 peingyserdlsdt (10, 12) sgmaf

N+1 )
e Hlenen = > el = [TH0 M
8+1 )
Sl e hl e = > SLENTR] = [ |
g L
ER e [Hl eten =2 Seudl =g

e Hemen — 4.5 syeug o men]




aBdbEidbsm_{

10 waemisuldell auhindh GhHialsd yelleMulwedgub, Sambsuedigmd Guhm
waAGusm s Uatewmd o0 Lsuspamuist GanBabainn’ Heangd. Seuisang spfadh Hmns
6ilh® UM UL Suied SAlsons o slang seiusensn &gk SM([Hs.

wafons s o I .ﬂﬂnﬂ
epiCusind (pefidud) |53 | 55 | 52 | 32 ﬂ

LOHIN 1o 16301 el
(T SENTEY ey 57 45 24 31 43 72




Firey:

auflens  olevsl 1 2 3 - 5 6 7 8 9 10

MEEENIEN (ool 28 | 30 | 32 | 35 | 46 | 47 | 52 | 53 | 55 | 60

(yeftaTuFussd)

LoAIOIGL 1630 el - 2

(SembgD Laliaiob) 24 25 31 32 43 45 57 72 80 84
oy GCunds sSenaneauseisn et Heney GLIMRSSHIONE Senenal Susib. S

Lme Museilell  oAllienu (pHeded sgn suflensuled SIPHIS.

Henr_Hlenev

@enLHened

N+1

—T

1041
2

LBl 2

SNSUS Ay -

5.5 usugy a2 iy



5 sueuml o miin]+ 6 seus o mi

46 + 47
GenL_Hensv (LeiteuiliLied) = =46.5

43 + 45

E

BevL_Hleney (Hewib@H LFHaliied)

o1y Semih@l) uHalwensvd ST igeund yelelulwedsd ofeyd Hmedt HFHHOTSH
o _ 66N



aISILUGSHSUULL. aleuyb

aueSILGHSILLL.  ugsusdled wHHBe  Hemevblouswiami 6t Caiha  BnbEIb.
Cam_iFdlumm oemevbleuedt  LJaueTS SV  LHTLIFF e  Hemevbleusll  LIJaueITSH
auedSLILGHHIULHB  Supinieyb, o _minselles Gonss eavienlbamdanud Hiewl  GHaley
DIMevGleuewBenend HemibAL Ceuemi(HLb.

Geley Hieneeuant

o Ufalel @ele gemebusmiennalg SUlfle) Sensbeussigmil &l (WhMmaL
Ufledell oiemevblousmigmid Gaiihd amBHe0 OGW. saLd] Gealey Seneobousnt 6IRILG)
Conds o misefler mBHe0 SYGLD.



OpmiFfwupp auflmsse BaLPame Oene STem LIS
1. aleuymibenen smieuflensuliCeon, GmmiE auflensuiCeon 610p5I%.

2. @aley HeM6eVI6UTIHMET  61(L)FHID.

N+1

3. 5 A WHLIMLSH HT6WIS.
N+1

4. T apeudl wHIIHEG DHGs o _sen GHaley DHENevbeussIeNmIH
(16001 5.

5. obwele gobaeieaning aFCr 2 eten X Gait wHy e Henso
D616 HYGHLD.



dBSHSISHT [

G  GhHbubhdsd 2 eiten  HUiIeledl  cleXIeNlbeNd  Llslieupld el euymibeil
Gisflalbdlamen. HHGHBLUSH 6 HuUisele EenL Hensy SHisNeheld HilewlsH.

(HLIT Sari 6ol
slemlemlden®s X

Slemevbleusmr F | 3 5 6 10 13 9 5 3 2 2




X F Cf
I 1 1

2 3 4

3 5 9

4 6 15
5 10 25
6 13 38
7 9 47
8 3 52
9 3 55
10 2 57
11 2 59
12 1 60

ﬁ““"‘t BenL_Hlenen = % SLoUSH 2 miy

BenL_Henen = 6—0%1 OLUSH 2 mi |

@en_Hlenev = 30.5 seusH 2 mi'ny

305 geus e plybe sop oHswis aumd Galey Hapbeuss 8. HBHE
hd X-Ba whiy 6. ambea gm GHousHnsm o pifanisels oL semey
b,

GPioy GuionGu sl Guimdsore  (papuiGh.  §baiels
amiBFogafwred  GupluBld deiten  wHiunengy o pliieniseien  sflwren  gynaf
ieTeneud  @IILSs0m60.



QaTLiFfwrenr auflnsds SeLBPaed D6 STENTEL

GamuiFdflwnen suflemsuisd SenLHensv SHieney SewibAL  Uedlewmhd Ligden HGP

GibmBebs I (Heienedl.
[ = enLHemevt)s LIflalet &P el606M6L.

m m = GenLHenew Uflalig (phmdpu Galey Hiene0CeUeHI.
1. @aley SHene0bleuewibenend 5HTewIH. ¢ =@l Ifela Ifeyh b
( N ) : . % f= BevLHensvls Liflallelt HienevGleuess
2 >) @ AL SHIT6wI5.

N = Guonds  Hienevlewe

N

3. (7) H@ ubshHeeien DHFHD GHaley DHiMmevbleusHiensmish STeWIH. DG 6
Semevllsuswiening 61HC) o _sften LIfley Hewr Geuall oo BHlemevs Ifley SEID.

Um@ suriiunenl. uweiuBHd) BenLHensy Hienieneudh HewichalL e0LD.
N

4. @su)t_gﬂsmm=l+-3f—c’x€



&mioy

Caidaib sembdlBd (wpemulsd Ufley B Ceuallss GCanBdsiigsi, HHmeans
Hallishg sembEHD (pepwnsd winn Ceuswih. HHGn o swienolt Ifley S Geuer
siILL(BLD. BevLHene SHeneneud Sirewt o _awienoll Ufley e Ceuerilulell &SP s1sbensVML
sihhah Glameien Gouewi(HiLb.

aBSHBHISE G 14
Ueitaumd oiemevbleusst Ligeusd i Louenem & GamPmamensouled ueniiyflupd 325

Gipmfeorenisaiied  eh  uHLSHDBSHFW  Fgrsfl  101H  auHOIRIHMBHD  GHNHHMHI.
@ounenmd Ceremih oL Hlene0 auHLTRIHMBHD HewlHa [Hb.



aulmen Lifa) (fhumiisd)

Gaxmflsotenisan il sleRile®l ban®

Below 100
100-150
150-200
200-250
250-300
300-350
350-400
400-450
450-500
500-550
550-600

600 and above

30

15
I8
10

325




Siray:

sugnonen  Uifley  (Uidiey GEmSeonsmt safier
Sen, Ceuet) aereildans (mwnerasni) Selay oemsobeveni . f
Below 100 1 1
100-150 20 21
150-200 42 63
200-250 558 118
250-300 6.2 180
— S S~
300-350 45 225
350-400 30 255
400-450 25 280
450-500 15 295
S500-550 18 313
550-600 10 323
600 and above 2 325
MN=325

(

N) - (325) = 162.5
2 ) 2 '

I =250 c=350

N =325 ci=118

f=62

N ef
@am_ﬁa)m=l+3f—xc
BenL_Henev = 250 + % x 50

Bev_Havev = 250 + == x50

B Hemev = 250 + ————" x50

Ben_Henev = 250 + %

Ben_Hlenev = 250 + 35.887

@en_Henev = 285.887



aBSHBISST_B

Uelieu D alsuymiselstliihbsl SenL Hensv Sieliedeus SHiIswiaylD

A 0-4 5-9 10-14 15-19 | 20-24 | 25-29 | 30-34 | 35-39
Sianevla e 5 8 10 12 7 6 3 2
Birey:
£ SR EDLOUNT SN

wginy F Y, % Geuei cf
0-4 5 0.5-4.5 5
5-9 8 4.5-9.5 13
10-14 10 9.5-14.5 23
15-19 12 14.5-19.5 35
20-24 7 19.5-24.5 42
25-29 6 24.5-29.5 48
30-34 3 29.5-34.5 51
35.390 2 34.5.30.5 s3

N-s3 I




o
f

@Beo_Hemev = [ + X:C

26.5—-23

Sen_Hemev = 14.5 + =

@en_Hemevr = 14.5 + 31—25 x5

Bent Pevev = 14.5 + —=

®enr_Hemev = 14.5 + 1.46

@en_Hemev = 15.96

%5



aBSHIBHT_B

Weiteumd allauymbehbeh BanlKBlensy Senaneld HemlbslHs.

HBLOSICIL 5 15 25 35 45 55

S)jame0 Gl e 7 10 15 17 8 4




girey;

Bale0 wHNssTt 10 Beit wLmsts Brpliustsd 3fley Benl Geusiluiesl syseub 10

b D sileld).

Mid x c.l F c.f
5 0-10 7 7
15 10-20 10 17
25 20-30 15 32
35 30-40 17 a9
45 40-50 8 57
55 50-60 4 61
65 60-70 6 67
75 70-80 7 74

N=74

(N)_?4_3T
2] 2

=30,
N = 74,
f=17,
¢ =10,

cf=32

N
2 ¢<f

37—32
17

@enHemer = I + X C

x10

@en_fenso = 30 +
®en_BHlenev = 30 + li7 x10

@en_Hemev = 30 + %7)-

@en_Hemev = 30 + 2.94

@Ben_Hlemev =32.94



- -

meny plorlt: |
e mgﬂuﬂgﬂﬁrn'ﬁ? wrewrafscien L WFRSer
QasrpéstulPeaaen. e fiame LWTEMBE STATS.
~— T = - —
£_uIFib | l o |
Qsd & Eiﬁlglgg 2 | B & | 8
— - i
Lo e Quit I . |
| aefé | o | 3l5|8ltefw 7|6 |3 1
aancaliéons B . b | <1F




) -

diay: Sardsaa aflas uds Efaigde
Soataarsar (L.CF) sanr@Ogssqb; gaanm wHifpewd
sowrsCanr sdogy gmpansCar aisaa s puUsser

Pmislidpan cauamgs A fasgeia smalaae dadéglps. g "_ |
oraraftsdier I (gj_i) e a:
R 1) aancfldens - SPasgeiey | . .
(X) u“’mqm‘lw ‘c’l‘}iﬂ)cafﬁlﬁ) B (QZE’_!) ,._(5_28_ ) '29‘015 LUl ufoy i
L m (L.C1) 1 29 e e gy 160 2B,
150 2 2 (5 18 ey & puCiy 160 gy @th. 19 W@ 30 Wigw o drer
155 3 5 2. Uy 163 g @)
158 5 10 ' v fooLfaa =160 Qs.8.
160 8 18 _ '
< (7 S AN JN SRS |
165 o | 0
168 | 2 S : 47
170 6 53
172 3 56
175 1 57
n==2f=57. Y




3) Qer ips QeraHule Ben_Benw &GRS 0.

L= e Berals Sfclecn £p srhenw.

Se el Sfa = ( n )esy Sifay
23 o

n=Quwris n.gﬁqia,dﬁé creirdnfldens.

cf = el Sfass hfu Sficier galiay
DG aieaw

f= e flencs 19Relalr SienaGQaicir.
i = @enfenel Ofldliedr Ren_ Qasafular SBieTay.




¥l : 4 |
“ om Qarfpsrena e oy e Hwh

Quplidipatsciicn oflarymsdr sruuC Pedrarer. Qen.Beneulen
wHiencs £}
Qg -1) Busd T e .“3 | g § é
gt | 2 ML g e | 8
' u
bgl@wlct | |
ravaldas | B 8 | 15| 25| 2 E 1

———-




ey (pepde gpafiemstio oy Sfaszgcday smablaar

ser(DNg&s CauswrBid.

or M 4-& eleurrisdr afiasuns

QsrT@&sTuL Hereren)
| | . S flews@eiley
Afeyser XA TN (e Qaian
(X) () (Icf) _ns
50-60 5 5
80-70 8 13
080 | B _ | 28 !
3090 8 s, BOD
90-100 21 74 !

| 110-120 7 90 ;
Quorg b >.f=90 E

.




A

. . '
pieg; pde gpadmeds ey Sfmigde goatacn . . 2
s\ és CarnQid. (orfif 4-4 carsisdr afmsurs @ﬂu“ I adlol) ! + X C
QsrQ&siuL Harerer) f g
vigde, : Ny 90
Shosi | guedud S:m B Bencots Gifley = (-"1—) ~aug ey 22 cs5q1g ey,
‘ 2 | 2
) (0 () g . i .;.
§0-80 : - (posn Padld '46° aThs Gela SmawQaara
0 g g Sl RoslapCsr sigisren Qe Pt Sflangw. §
7-80 15 p | 53" ereap Geia) SewQacdtafid 45 s a,pﬂ
Jpa __CITRT LTI snomdudiery) i seond ﬁmt-.tﬂmmu ey 80-90)
90-100 2 "
00 9 3 L =280 n/2=4 __H
e 1 0 of =28 | | | 5'5
- . =25 . | A
Quorggd | 2f=90 | e o
“ T e Bew g0 ——x WT
’ ] i ¢ - i
= 80+6.8 =80+ 17 x 10

PeoLfioe ey psafluih = 86.8 B LI 25 . ¥



el -- |

X DI FAD AMNeysciicn & srhremasensryd, Y 5fld
farsselay Dienewsenaruyd SHEs& Qanerer Ceauaw@®id.
paClaing £p Themwsw@rE®fw Selley 2 en o Qe cinrenaar
nenrULS8d yeardlsarss glijzs Qsrearer Carawib.
wulsTeflser senangemns b Deorarissd e g L flewi sy
wimoblaran euemar@sn® (Less than frequency curve - L.C.F.)
oy Efer ganses (Less than Ogive) erewmiiu@id’ -

| n
Slew Y —aﬂ*-ﬂe‘u( }rs'lrp Y eirafl v St qm 5 5
2

K Siébsés Doarwurs oI CpiGCan® auerw CGaaw®b. 25
Pl eans @ et ey D 9 0 Q) a1 sver aUMmaTGErL_ean_ Qe Gud
HraflWlSImBe X Diénds@® qm Qi@ sms Casnr® ey
Inar P, BFEQFrAGESHECSTIH X Béens Qe @b ysraffGuw
Do fenew i@d. BDscnend RIbeudhd LomEME o o @ crr i o +i



| Steiraigpib ﬂmvlﬁugtg ‘lﬁﬂl‘i@ﬂﬂﬁl e Qaicir
Nenrhs Ben Heve sraws.

AT T & Sa ol e 2 ,3_
. ] ] S
{emLmuwl) Q e S




gl eyt 2
= i
| | 3
m{::;;ﬂ aprfarat carahims Sfaigaia
SlenaCleusn - L.'
ﬁ ,.',i
o .
16 !_[
20 3
50 l
1]
15

80 ;




2 - _ I.I.__|l||._m #~
SN ;
e N 13 §¢
;. ANGREEES
T N
B F NG e
:

— 3

 voggemn.
pysysunfidy wepee bpd



ACs ﬂunﬁp Cudiandgdia Sanatlad auamrpib
fo_facsraronb.

bap: 3

. gCp@d g0 Sda SooQads aaalsrid
NS e Benak :rr':hu;ﬁgu uflors Sver® Gedia
doatea amaGarfswsd alinu'ji fa_faaomui
Iﬁ@ﬂ“imlm -

gm aayuLsSd Iﬁﬁig-ﬂq Sion G e
veaGstiymaryh, Gudlaigeia SimeGauar aama
Qanlipenaruyd euangw Gaicw(Gub. @ g ﬁmidl B, S
vaaGsrfagd Qo yadddeis X - siksie o0
Criigigic Carld aumyw Caaw@ib. .gfiﬂ.ln@ X - séflenen
Qe (G yerefiG Penflenar g @b



e e 3 & <o E;tilﬁ:'i-'ll._uu Gsirer shcurlisc @&
PBrex® sebiey Qmmﬂlmﬂ' ﬂmﬂﬂuntﬂﬂdr ﬂ-:m'jﬂ ﬁmi_lﬂmm
arcirGumih.

aciia Doblaar L Kguwd

& gada | o T P P~ Y
3} s a0 ol @ el iul'r-i'- F < o0 o) i

(ems Lamruls) {Less than cumulative | | -l‘.{gu:tﬂﬂ (More than cumulative
frecp.lmqr] , = _frequency)
40& @& B o | 404 xS 80
a0 - 6 60 " ' 74
80 16 8o - 1 G4
100 " 30 100 = | 50
120 * 50 i 120 - | 30
140 66 L 140 14
180 75" Y 180 " B
180 80 | 8O "~ - o




__
6 Q Q o
SR e®o¥MA

(e e
euspyne s uesieiefide

o
-

[=] -~
3
@ g &
o 8¢
T @
o 4%
8§
@
o
e 3
lo @
Qo
(%]
7
0



| ga B WL A
1. @enL_fHenw ﬁl_l._ml_l_mrr-ﬁ mmu‘mm}nsuuy
S Arsang s Clsneiw(perargl.
2 Sseancns sansfl@eumsid L fiphas Glﬁmli'rmglm srﬂ!
' 3. saaGsgraHutia E‘ﬁﬁh T MY EN unﬁi
wrifrsde scar@ Oy S5 R comib. a
- 4. Hphs Qerall 9Ren ik Glaraw@ sren Glﬁ.rr@jluﬁl'
MenL lencenuls &ornd Sl cmD.
5 s LG sETy WHLLESaTT® LUrS& s rgl.
6. QEreHulien IDLLEDD Doy B oS
TG wHuyssda SOy BGEsTEIL DLy
wHGenens S GIGn &S GPRUID. t
7. 'suenyuiL_tb’ QAP &0 [ &5 Ut L] uumu@5£1
BenL_Bencuder nFoenas seir(Bi9lig.&s apuuid. (DLERTD Sa
synsMQer wHOenU auenr UL Gens uesiubh S e srr:nr{y}q_u.l
8. cretw allpeSd TIPS (P WUTS o LT sallen &
wHOa LS &= cwer & &L &) en LBl e o &) 60 ey A £ e g
THRESEETL_L TS < AP (B L Griniliguilcd uniEgGGClupEleny GlUuTas

k]
o



BoLpeme Senalle aH.ﬁM:
. BeLBlenev (emedt o miybented LTHbslLBauHeveme. sbaaled B o BLb

GG agnafl sueb.Hubs Ufey B Oeuelldsren ujeuebd i BenLHene
Sleneneud HewlbAL s0miD.

2. elouLNeNg) (WISHOWBBHTS SHHHTEUD Fnl SNLBH6 SieTeheud HTeRIeUTLD.
3. FHmeil, Crien uswiLeney S1jenllbendE BMmLBMme Sensneud HemibEL e0LD.



S mpun G ': |

l.

Gamfled Fy wabmd Guinispnd BentHemed senalsit wHnIsd Gufi genalsd
LOTHBD GHLBLD.

Gapmuisdfluren  auflens ooz | Blor  cadienidads o mlnbsenns
BmbEwtung Bl Heameownaig, wHIH Gl wHICU Haly GHILFed
o_slien 6IGHID & WHIL QB

gyngfl  elevdsd  srem wWCHOw  vweELGANCH  sHaly  whp sy
GawedLnBoenb@d B& LwsLBHHILGML 06060



G.pum@an

@mujﬂmmmwa awaﬂ@mpp@ SruuL@erar
a&wumsmm mtﬂm&uu@gﬂ TS Careryw HAmwold o drery).

2. Qy soar dagisdia glumLBgb
pemradlu uhaugden.

3. wrfflé Cphsses paopulia THUBBeup
ormILIrGI S arned le..jﬂmm SiHaw urfssunPfpss. |
4, @gammmgw sefly wpenpdsl uwauLng

5. Gegrepdlia VaLQuiiu goag Nss a;ﬂm
wﬂuqésga@ @paﬂu.lpymm Qasr@éscuL Qmawq.u.sg@un.‘ici
P BamouwuedruLrg. -



Advantages of Median:

(1) It is very simple to understand and easy to calculate. In some cases it is
obtained simply by inspection.

(2) Median lies at the middle part of the series and hence itis not affected
by the extreme values.

(3) It is a special average used in qualitative phenomena like intelligence or
beauty which are not quantified but ranks are given. Thus we can locate the
person whose intelligence or beauty is the average.

(4) In grouped frequency distribution it can be graphically located by drawing
ogives.

(5) It is specially useful in open-ended distributions since the position rather
than the value of item that matters in median.



Disadvantages of Median :

* (1) In simple series, the item values have to be arranged. If the series
contains large number of items, then the process becomes tedious.

e (2) It is a less representative average because it does not depend on all the
items in the series.

* (3) It is not capable of further algebraic treatment. For example, we can not
find a combined median of two or more groups if the median of different
groups are given.

* (4) It is affected more by sampling fluctuations than the mean as it is
concerned with only one item i.e. the middle item.

* (5) It is not rigidly defined. In simple series having even number of items,
median cannot be exactly found. Moreover, the interpolation formula
applied in the continuous series is based on the unrealistic assumption that
the frequency of the median class is evenly spread over the magnitude of
the class interval of the median group.



